BSEH Practice Paper 3
Class-XII
Subject- Military Science
Time: 2 %2 Hours Max. Marks: 60
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1. Y oo arfFard 2
2. U G101 H 15 U B, RTH 06 9g—Tddweda ued, 03 Rad 9 wR_I U9, 03 T
I IR B U 3R 03 ANBGUT—HROT Y1 BT IR AT 2 | TS YT 01 3(F Bl
g
3. TR GAT 02 ¥ 07 qP & U ATy SR 8, §99 02 I ¥ AR fadped ¢ |
ST IR 40 W 60 V@I H T B | YD YT B 02 b T |
4 U G 08 ¥ 13 TP B UL oY SR ©, $94 02 ULl ¥ ARG fadbed € | g9
IR 60 W 80 V@I H I © | YD UL B 03 P T |
5. U AT 14 ¥ 16 T & U TS B, 3 9T ueHl # omaRa fawed g |
§T IR ST 250 TGEI H o B | UAP U B 05 3P © |
General Instructions:
1- All questions are compulsory.
2- Question no. 01 has 15 questions, which consisting of 06 multiple choice questions, 03
fill in the blank questions, 03 one word answer type questions and 03 Assertion-Reason
questions. Each question is of 01 mark.

3- Questions no. 02 to 07 are very short answer type questions, out of which 02 questions
have internal choices. These are to be answered in 40 to 60 wards. Each question carries
02 marks.

4- Questions no. 08 to 13 are short answer type questions, out of which 02 questions have
internal choices. These are to be answered in 60 to 80 wards. Each question carries 03
marks.

5- Questions no 14 to 16 are essay type questions; all the questions have internal choice.
These are to be answered in about 250 words. Each question carries 05 marks.

[Multiple Choice Type Questions] 15x01=15

1- MR 99 g & o fRifie | i @ o &7

(&) Tl & BIRUT

() FHHIAT & BRO

() QAT Ud SAATIGAT & BIRT

(@) 377 q BIg T

Why is the Indian military system compared to a pyramid?

(a) Due to Unity

(b) Due to similarity

Downloaded from cclchapter.com



(c) Due to unity and series
(d) None of these
2- IR o AT fhaw worel # fawrfora 87

() 04
(@) 05
(1) 06
(") o7

Indian Army is divided into how many commands?

(a) 04

(b) 05

(c) 06

(d) 07
3- IR GReAT yRYS HT 3fedel div eIl 27?

() Rrefcr

(@) g

(1) eI

(51) TS ReTT HATRDHR

Who is the chairman of the National Security Council?

(a) President

(b) Prime Minister

(c) Defence Minister

(d) National Security Adviser

4- o ATETE BT U BIAT B
(@) HOR SR
(@) otftede S Ra
(1) SR
(&) Wics AR
The post of Chief of Army Staff is-
(a) Major General
(b) Lieutenant General
(c) General
(d) Field Marshal
5- 9Rd # AT a9 Ba FERT I 2?
(@) 03 faHaR
(@) 04 feHaR
(1) 05 faHaR
(&) o6 fawaR
When is navy day celebrated in India?
(A)03 December
(B) 04 December
(C) 05 December
(D)06 December
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6- f=forRead & & @ A1 RA &7 W@ e fawe 82
(@) TARTST 2000
(@) b
() AT 27
(=) a5
Which of the following is India’s indigenous fighter aircraft?
(a) Mirage 2000
(b) Rafale
(c) MiG 27
(d) Tejas
7- MRA H gAAE AT AR D 22
Who is the current Chief of Naval staff in India?
8- d0TAOTHO HT YUl w9 foIRay |
Write the full form of BSF.
9- fas FE— SRRIR e Uga arel AfRTRell SR B |
Who said- Weapon is an instrument with striking power.
10- R BT ATTEH . ..ooo BT HEd T |

The missile test range in India located in....................

12-T0 10 00 B TG T .o H gl
The year of establishment of N.C.C.is ..................

13- 3P (A) — U W1 DI I§ &F BT I & HT H ST Al & |
PR (R)— Ig UG acT B G A A AT DI d8ls oAl o |
(@) BT (A) 3R BRI (R) T I |
(@) arffped (A) 3R BRI (R) QFT 3 & |
() AABAT (A) TF & Afh BRI (R) S ¢ |
(&) IABAT (A) 3N & oifh BRI (R) A & |
Assertion (A)- Infantry is known as ‘Queen of the Battle field.’
Reason(R)- It fights face to face with the enemy on foot.

(A) Both Assertion (A) and Reason (R) are true.
(B) Both Assertion (A) and Reason (R) are false.
(C) Assertion (A) is true but Reason (R) is false.
(D) Assertion (A) is false but Reason (R) is true.

14- BT (A) — MY FHT # arg A1 S ) &S AW el © |
HRU (R)— Fifd I A1 g & SR d1g I A FaF BRIaE] o1 4 FeH © |
(@) BT (A) 3R BRI (R) AT I |
(@) arffperd (A) 3R BRI (R) QIHT 3 ¢ |
(1) fABUT (A) I © <fhd BRI (R) 3NIY % |
(&) AIBAT (A) I ® AfhT HRT (R) T ¢ |
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Assertion (A)- In modern period, Air Force is considered a symbol of victory.
Reason (R)- Because the Air Force is capable of taking action everywhere at a rapid pace
during war.
(A) Both Assertion (A) and Reason (R) are true.
(B)Both Assertion (A) and Reason (R) are false.
(C)Assertion (A) is true but Reason (R) is false.
(D)Assertion (A) is false but Reason (R) is true.
15-31fmer (A) — fgdia fivage 5 w9 7 WAV 961 &7 JANT B |
PR (R)— U TRAT] g8 U & (2RIRMET 3R AR el iR RR1G 17 |
(@) AfIBAT (A) R HR (R) AT T B |
(@) arffped (A) 3R BRI (R) QFT 3 & |
(1) AfABUT (A) I © b BRI (R) 3NIY % |
(&) AIBAT (A) I ® AfhT HRT (R) I & |
Assertion (A)- Russia used the nuclear bombs during the Second World War.
Reason (R)- These bombs dropped on Japanese Hiroshima and Nagasaki cities.
(A)Both Assertion (A) and Reason (R) are true.
(B)Both Assertion (A) and Reason (R) are false.
(C)Assertion (A) is true but Reason (R) is false.
(D)Assertion (A) is false but Reason (R) is true.

[ Very Short Answer Type Questions] 06x02=12
2. 9Td AT &Y Bls I HHAr foRkau |
Write any two weaknesses of infantry.
3, IR AR @ el =R umgfeadt & A forfag |
Write the name of any four submarines of Indian Navy.
4. AHfed IR & SRR B &7
What are the weapons of mass destruction?
5. URIRIDHRT HH1 H B Al Tl Bl 57
Which platoons are there in an administrative company?
6. R & PIs IR el =7 gali & 4 ey |
Write the name of any four Para military forces of India.
Or
g |1 B IS R/ E |
What are the units of Territorial Army?
7. gere] a1 ufaferard fafag |
Write the reactions of atoms.
Or
Ued A1 & Bl IR BRRAIR oy |

Write the any for weapons of infantry.
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[Short Answer Type Questions]
8. U= WIISH & BIs o1 Igadl Bl Ry |
Write any three objectives of military organization.
9. 3SITRT BR BT UHE faRivad forfey |
Write the main features of the corps of engineers.
10. AIgAAT & BT BT qUF DI |
Describe the functions of air force.
1. IR ARy & AR faamit &1 aois Sifrg |
Describe the various departments of Indian Navy.
12. U1 /1 BT IgATT T 8°
What are the objectives of Territorial Army?
Or
TSR dec PR & Iqaed folRay |

Write the aims of NCC.
13. BPRIR & BRR &HaT & MuRe dw@ forfau |
Write the determinants of fire capacity of a weapon.
Or
JATHATT B FHI (b iR & ST fo1fRay |

Write the uses of rocket launcher during attack.

[Essay Type Questions]

14, YRA & ITacR T IS B ARAT DI |
Explain the higher defence organization of India.
OR
I& ¥ YT & RIGT BT [GRIRYdd auie BIfoTg |

Describe in details the principle of administration in war.

15. AR IRAT & (Al B faRIvA] vd UbRl &1 fad=sn S |

Discuss the characteristics and types of service aircraft of Indian Air Force.

OR
IRATT a1y AT 1 THE ARIRAT BT gl BTy |
Describe the major branches of Indian Air Force.
16. 1%l @ faRIwarali iR Sl &1 qoiF B |
Describe the characteristics and disadvantages of rifle.
OR
Uqel Jelferd & GRa &I fawgd auid HIfY |
Describe in details the structure of Infantry Battalion.
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06x03=18

03x05=15





